T Tt T 3= =
(é) g - - - - - - - - - - - - - - - - - - - - - - - - - g g é
z 10E = =S
S E... 9E =
0 AN AAA SJE= £ = median = 1.796 ug
015 ———== J=1=
’E‘ = - :D: median = 0.115 Hz
= 01f-= =
= e
0.05
sams2, 121f05006 at JPM1F5, ER4, Drawer 2:[466.80 ~292.06 214.58] .
142.0000 sa/sec (6.00 H SSAnalysis[ 0.0 0.0 0.0
Af= 0.0025st,el[ilf(ft = 6552%6 sams2, 121f05006 " yI-SI:':lerning, k= 727]
Temp. Res. = 38.986 sec, No = 60000 Start GMT 15-November—2012, 320/08:00:00.003 Span = 7.86 hours
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GMT 15-Novem ber—2012 1 320/h h ‘mm from: /misclyoda/pub/pad, pims, 17-Nov-2012,07:07:30.563



